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Which of the following are true for the System demo?
Response:

A. It is not mandatory to have all the functionalities tested before the demo

B. It happens once per PI, at the end of the PI

C. Architectural Runway work in process is scaffolded and toggled

D. Features are functionally complete or "toggled" so as not to disrupt demonstrable functionality

Answer: C,D

In the Program Kanban some steps have work in process (WIP) limits. Why is this necessary?
Response:

A. To help Continuous Deployment

B. To enable multitasking

C. To ensure large queues are not being built
D. To keep timebox goals

Answer: C

What is one of the six steps in the Problem Solving Workshop?
Response:

A. Choose a problem to solve - agreement not required

B. Identify the biggest root cause using the Pareto Analysis
C. Apply root solution analysis

D. Brainstorm possible failures

Answer: B
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Which statement is a value from the Agile Manifesto?
Response:

A. Individuals and interactions over contract negotiation
B. Customer collaboration over a constant indefinite pace
C. Individuals and interactions over processes and tools
D. Customer collaboration over following a plan

Answer: D

Which behavior indicates a team is cross-functional in an Agile framework?
Response:

A. Each team member can do all the activities to define, build, and test a Solution

B. Each team can deliver Features across multiple domains

C. Each team member can define and build, with a System Team testing the Solution
D. Each team can collectively define, build, and test an increment of value

Answer: D

Design Thinking identifies at least four new ways to measure success. What are two of those ways?
(Choose two.)
Response:

A. Scalability

B. Marketability
C. Sustainability
D. Desirability
E. Reliability

Answer: C,D

Which situation should use the Large Solution SAFe configuration?
Response:
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A. Web-scale enterprises with millions of customers
B. Enterprises building solutions that require external suppliers

C. Organizations that operate in an environment that requires compliance for complex, high-assurance
systems

D. Organizations building a solution requiring multiple ARTs

Answer: D

What is an example of an ART event?
Response:

A. Scrum of scrums

B. Innovation and Planning
C. Daly stand-up

D. Iteration review

Answer: A

Architectural Runway must be continuously maintained
Response:

A. TRUE
B. FALSE

Answer: A

Which activity is key to successfully implementing the Scaled Agile Framework?
Response:

A. Remove blocks such as portfolio estimation

B. Replace the PI Planning process with the Inspect and Adapt workshop when possible
C. Use the Innovation and Planning Iteration instead of the Pl Planning process

D. Use a cadence-based PI Planning process

Answer: D

Visit us athttps://www.certswarrior.com/exam/safe-practitioner/


https://www.certswarrior.com/exam/safe-practitioner/

Question: 11

Which two statements describe the responsibilities of the Product Owner?
(Choose two.)
Response:

A. To ensure the team follows Agile principles and practices
B. To protect the team from external forces

C. To coach the team

D. To be a single voice for the Customer and stakeholders
E. To own and manage the Team Backlog

Answer: D,E

Question: 12

Uncommitted objectives don't count in velocity/capacity.

Response:
A. FALSE
B. TRUE
Answer: A
Question: 13
How long is the Iteration Retrospective?
Response:
A. 1day
B. 4 hours
C.2to 3 hours
D. 30 to 60 minutes
Answer: D

Question: 14

Which of the below are not part of the CALMR approach to DevOps?
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Response:

A. Measurement
B. Lean Flow

C. Authentication
D. Culture

Answer: C

During the Inspect and Adapt event, how are reflection, data collection, problem solving, and
identification of improvement actions used?
Response:

A. To increase the quality and reliability of the next PI

B. To enhance and improve the Innovation and Planning practices
C. To help the team bond and work more efficiently together

D. To evaluate better implementation steps

Answer: A
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